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1. Find all solutions (in radians) of the given equation in the intemda* : cOAT+ O A+
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3. Find the values abfor which the graphs ce O Bdand™ Qo A T ¢éintersect. (Hint: for
what values ofodo ™ Qw  "Qw ?)
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a) Find all solutions of the equation.
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b) Find the solutions in the intervaift
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Q: A bus driver was heading down a street in Walnut. He went right past a stop sign without
stopping,went the wrong way on a onway street, and then went on the left side of the road past a
cop car. The cop did nothing, because he didn't break any traffic laws. Why not?






